Kit for left side:

RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

CF192

Benelli TRK702

Kit for right side:

ID. Description Cat.No. | Pcs. ID. Description Cat.No. | Pcs.
1 Crash protector N111 1 1 Crash protector N111 1
2 Dural.roller I=15mm 1218 1 2 Dural.roller I=15mm 1218 1
3 Bolt M10x160x1,25mm 929 1 3 Bolt M10x180x1,25mm 969 1
4 3M tape 2 4 3M tape 2
5 Washer M10 804 1 5 Washer M10 804 1
6 Bolt M8x16mm 829 1 6 Bolt M8x16mm 829 1
7 Washer M8 802 2 7 Washer M8 802 1
8 Bolt M6x35mm 989 3 8 Bolt M6x35mm 989 2
9 Washer M6 947 4 9 Washer M6 947 2
10 Dural.roller I=5mm 433 1 10 Dural.roller I=5mm 433 1
11 Bolt M8x30mm 834 3 11 Bolt M8x30mm 834 2
12 Dural.adapter 680 1 12 Dural.adapter 680 1
13 | Dural.adapter with threads 682 1 13 | Dural.adapter with threads 682 1
14 Dural.roller I=5mm 478 1 14 Dural.roller I=5mm 456 1
15 Nut M6-insurance 948 1
16 Dural.roller I=16,5mm 106 1
17 Bolt M8x40mm 828 1
18 Sticker RDmoto 2

The assembly process:

During assembly, we recommend using thread glue - medium strength (blue).




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

Main attachment (L+R side) :

Bolt M10x160x1,25mm ID.3 (for left
attachment) or bolt M10x180x1,25mm ID.3 (for
right attachment) + washer M 10 ID.5 + original

nut M10 + protector ID.1 + bolt M8x16mm ID.6
+ washer M8 ID.7




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

Mounting under light :

Bolt M8x40mm ID.17 + washer M&
ID.7 + duralumin roller I=16.5mm
ID.16

Screw M8x30mm ID.11 to connect
the crash frames.

ID.9 + duralumin adapter ID.12 +
duralumin adapter with threads
ID.13 + 3M tapes




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

@ the original footrest holder, insert a duralumin roller
1=5mm, diameter 19.8mm ID.10 under the upper attachment,
insert the crash frame under the lower attachment and tighten the
M8x30mm ID.11 bolts at both points.

M6x35mm ID.8 bolt and M6 ID.15 nut.

Dismantle the bolt that holds the shift lever rod and use a
duralumin roller I=5mm, diameter 16mm ID.14 to center it. Put
M6 1D.9 washers on both sides of the roller and tighten with

7




RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

Loosen the original footrest holder, insert a duralumin roller
1=5mm, diameter 19.8mm ID.10 under the upper attachment,
insert the crash frame under the lower attachment and tighten the
M8x30mm ID.11 bolts at both points.

Disassemble the bolt that holds the brake and insert the roller
I=5mm, diameter 24.8mm ID.14 under the brake, remove the

w bolt. /




